

Rock River Ranches LLC

5460 Colorado Blvd.

Unit #120

Commerce City, CO 80022 US

+17204364444

orders@rockriver ranches.com

www.rockriverbison.com

ADDRESS

Whole Bison Cutup - Sample Sheet CPU/Delivery/UPS SHIP TO

Whole Bison Cutup - Sample

Estimate

Sheet

CPU/Delivery/UPS

ESTIMATE#	DATE	
E3799	09/16/2025	

SHIP VIA

CPU/Delivery/UPS

CLERK OR DRIVER

amt

ACTIVITY	QTY	RATE	AMOUNT
DTC:DS - 12oz NY Strip Steak Bison 12oz NY Strip Steak, vac pack 6 lb case (8/cs) - 2 cases	12	30.00	360.00
DTC:DS - 14oz Ribeye Steak Bison 14oz Ribeye Steak, vac pack 7 lb case (8/cs) - 2 cases	14	40.00	560.00
DTC:DS- 20 oz. Tomahawk Tomahawks -20 oz. tomahawk; \$33/lb.; (4 count) - 1 case	5	33.00	165.00
DTC:DS- 4oz Filets Steaks Bison 4oz Filets individually vac pack, 4.5 pound box - (18/cs) - 1 case	4.50	50.00	225.00
DTC:DS- 6oz Filets Steaks Bison 6oz Filets individually vac pack - (12/cs) - 1 case	4.50	50.00	225.00
DTC:DS - Flank Steak Bison Flank Steak - 1 per pack - 5 packages (around 1.5lbs each)	7.50	15.00	112.50
DTC:DS - Chuck Roast Bison Chuck Roast - Frozen - 1 per package Clod Arm Roast - 2 roasts (around 5lbs each)	10	12.95	129.50
DTC:DS - Chuck Tender Roast Bison Chuck (Mock) Tender Roast, 1.5 to 3.0 lb pcs - 2 roasts (around 2lbs each)	4	12.95	51.80
DTC:DS - Tri-Tip Roast Bison Sirloin Tri-Tip Roast - 1 per package 2# Average weight - 2 roasts (around 3lbs each)	6	16.75	100.50
DTC:DS - Back Ribs Bison Back Ribs - 2 or 3 racks/package - avg 5	15	6.75	101.25

Please check order immediately upon arrival. All order claims must be made with 24 hours of receipt.

Thank you for your purchase and support of Rock River Ranches. Rex

ACTIVITY	QTY	RATE	AMOUNT
lb/pkg - 3 packages (around 5lbs each)			
DTC:DS - Shortribs Bison Chuck Short Ribs (3 Bone) - 2 pack - 5 packages (around 10lbs)	10	8.95	89.50
DTC:DS - Skirt Steak Bison Skirt Steak (inside or outside) - 3 packages (around 2lbs each)	6	15.75	94.50
DTC:DS - Hanging Tender Bison Hanging Tender - 1 per pack - 2 packages (around 2lbs each)	4	15.85	63.40
DTC:DS - Stew Meat Bison Lean Stew Meat - 1# packages - 10 packages	10	12.75	127.50
DTC:DS - Tenderloin Tips SALE - Bison Tenderloin Tips - 1# packages - 10 packages	10	10.95	109.50
DTC:DS - Ground Brick 1# Bison 1# Ground Bulk Brick - Vac Packed - 100 packages	100	11.35	1,135.00
DTC:DS - 1/3 lb 3/4" thick gourmet burgers 1/3 lb 3/4" thick gourmet burger, frozen, 18 ct; 6lb. case, \$11.50/lb - 6 cases	36	11.50	414.00
DTC:DS - 1/3 lb Cave Man Burgers 1/3 lb 3/4" thick gourmet Caveman burger, frozen, 18 ct; 6lb. case, (Bison Meat, Bison Hearts, Bison Tongues, Bison Livers) \$11.50/lb - 2 cases	12	11.50	138.00
DTC:DS - 1/4 lb bison burgers 1/4 lb bison burger, frozen, 24 ct; 6lb. case, \$11.50/lb - 4 cases	24	11.50	276.00
DTC:DS- Raw Bison Brisket Raw Bison Brisket Deckle Off - 1 piece / package 6# avg weight - 1 piece (around 6lbs)	6	14.95	89.70
DTC:DS - Pastrami Bison Black Pastrami - Fully Cooked - Eye of Round - 1 package (around 2lbs)	2	16.75	33.50
DTC:DS - Italian Sausage, raw Bison Italian Sausage, raw - 1# vac packed 100% Bison - 5 packages	5	11.95	59.75
DTC:DS- Mexican Chorizo, raw Mexican Chorizo, raw, 1 lb package, 100% Bison - 5 packages	5	11.95	59.75
DTC:DS - SW Green Chili Sausage Links Medium Hot Southwest Gr Chili Sausage, 50% Bison and 50% Pork, Fully cooked; \$10.99/lb, 1/4 links; 1lb packages - 5 packages	5	10.99	54.95
DTC:DS - Cheddar Jalapeño Sausage Links Medium Hot Cheddar Jalapeño Brat, 50% Bison 50% Pork, Fully cooked; \$10.99/lb (4 count per 1# package) - 5 packages	5	10.99	54.95
DTC:DS Bison Meat and Bean Chili Bison Meat and Bean Chili, 1lb resealable bag,	5	7.75	38.75

Please check order immediately upon arrival. All order claims must be made with 24 hours of receipt. Thank you for your purchase and support of Rock River Ranches. Rex

ACTIVITY	QTY	RATE	AMOUNT
\$7.75/lb - 5 packages			
DTC:DS- Bison Breakfast Sausage Breakfast Sausage- 100% Bison Breakfast sausage raw, 1 lb pkg; \$10.60/lb - 5 packages	5	11.95	59.75
DTC:DS- Bison Breakfast Sausage 2oz. Patties 100% Bison Breakfast sausage, 2oz. patties, 1 lb pkg; \$10.95/lb - 5 packages	5	12.50	62.50
DTC:DS Bison Italian Meat Balls 1lb Bison Italian Meatballs 1.3 oz Frozen - Uncooked - Hand Rolled 12 per Bag - 1 lbs Bags - 5 packages	5	12.75	63.75
DTC:DS - Bison Sirloin Philly Filet Bison Sirloin Philly Filet (Thinly Sliced Sandwich Meat), 3lb box, 6oz. pkgs, 8 count; \$14.75/lb - 2 cases	6	14.75	88.50
DTC:DS - Jerky Bundle Jerky Bundle- 5, 3 oz. package; \$10.40/ package - 1 bundle	1	52.00	52.00
DTC:DS - Hot Jerky Bundle Hot Jerky- Bundle 5, 3 oz. package; \$9.20/ package - 1 bundle	1	52.00	52.00
DTC:DS - Gluten Free Jerky Bundle Gluten Free Jerky Bundle- 5, 3 oz. package; \$9.20/ package - 1 bundle	1	52.00	52.00
DTC:DS - Tongues Bison Tongues individually vac packed - 1 piece (around 3lbs)	3	5.75	17.25
DTC:DS - Bison Hearts - Small Pack 1# Bison Heart Pieces - 1# packages frozen - 5 packages	5	7.25	36.25
DTC:DS- Bison Kidneys - 1# Bison Kidneys - 1# vac pack - Frozen - 5 packages	5	4.25	21.25
DTC:DS- Bison Oxtails Sliced Bison Oxtails Sliced- 1 lb. packages - 5 packages	5	6.75	33.75
DTC:DS - Split Marrow Bones Bison Split Marrow Bones in 5# boxes - 1 package	5	5.75	28.75
DTC:DS - Pipe Bones Bison 2" - 4" Marrow (pipe) Bones in 5# boxes - 1 package	5	5.00	25.00
DTC:DS - Meaty Neck Bones Bison Meaty Neck Bones - 5# Box - 1 package	5	2.50	12.50
DTC:DS - 1-2" Soup Bones Bison 1-2" Soup Bones in 2# bags - 5 packages	10	5.00	50.00
DISCOUNT Discount - 10% for whole bison	0	-0.10	0.00
This is a sample side of bison cut up locker style. Actual order can be mixed and matched to personal family preferences. Meat Cost needs to be over \$5000.			

Please check order immediately upon arrival. All order claims must be made with 24 hours of receipt. Thank you for your purchase and support of Rock River Ranches. Rex

ACTIVITY	QTY	RATE	AMOUNT
Product weight is around 390 lbs plus 3.75 lbs jerky			
Below will be added if it is a shipment order:			
Shipping Containers:PC-80 PC-80 Shipping Cooler - 28x21x16 - 5.5#	8	30.00	240.00
Dry Ice Dry Ice	80	0.65	52.00
DTC:DS - Freight Freight for Direct to Consumer - UPS Ground 1-3 Day: 8; 70lb coolers; 28x21x16	1	600.00	600.00
This is an estimate of your payment amount based on actual weight of certai	CODI	OTAL	6,416.55
items and random weights of some of the items. Your actual invoice amount may change slightly once the actual items are pulled for your order.	TAX		0.00
Freight cost are the actual cost from UPS.	TOTA	L	\$6,416.55

Accepted By

Accepted Date